
EDINBURGH TRAM NETWORK-INFRACO CONTRACT 

CERTIFICATE OF VESTING OF MATERIALS 

This Certificate is for the benefit of City of Edinburgh Council, constituted in terms of the Local 

Government etc. (Scotland) Act 1994 and having its principal offices at City Chambers, High 

Street, Edinburgh, Midlothian, EH1 1YJ ("CEC") and relates to the vesting of the Materials and 

Parts described in Schedule 1 hereto attached. 

We Siemens pie of Faraday House, Sir William Siemens Square, Frimley, Camberley, GU16 800, 

England, in consideration of tie's payment to Siemens under the lnfraco Contract between tie, 

Bilfinger Berger Civil UK Limited, Siemens pie and Construcciones Y Auxiliar de Ferrocarriles SA 

of the sum of FOUR HUNDRED AND TVVO THOUSAND, SIX HUNDRED AND SEVENTY SIX 

POUNDS (£402,676) (exclusive of VAT) on or before 17 May 2011 in respect of the Materials and 

Parts, hereby warrant and undertake to CEC that:-

1 the Materials and Parts listed in Schedule 1 are supplied pursuant to Clause 7 of the 

agreed draft Minute of Variation ("MoV4"}. The Materials and Parts listed in Schedule 

2, save for those Materials and Parts listed in Schedule 1 to this Certificate and the 

Materials and Parts previously vested and listed in Schedule 1 to the Certificate of 15 

April 2011, shall be subject to vesting under separate vesting certificates which shall 

be conditional upon payment pursuant to Clauses 8.1, 8.2 and 8. 3 of the agreed draft 

Minute of Variation; 

2 nothing remains to be done to the Materials or Parts to complete the same up to the 

point of their incorporation in (i) the Prioritised Works, and (ii) the On-Street and/or the 

Off-Street Works (as defined in the agreed draft Minute of Variation (MoV4)); 

3 the Materials and Parts have been set apart from any third party property and stored 

at the Siemens warehouse situated at Broxburn (the "Premises") or in Section 7 and 

Section GA and have been clearly and visibly marked, so far as practicable, in order to 

identify such Materials and Parts as belonging to CEC; 

4 property in the Materials and Parts (including but not limited to supplies received by us 

from a third party for incorporation in the Materials and Parts) is vested absolutely in 

us and the Materials and Parts are free from all Security Interests, encumbrances, 

charges or third party rights of any kind and we are able to pass title to CEC in the 

Materials and Parts; 

5 the Materials and Parts are in every respect in accordance with the requirements of 

the I nfraco Contract; 

6 the Materials and Parts shall at all times after the date of this Certificate be insured by 

tie by way of the OCIP Insurances taken out and maintained in full force and effect by 

tie for the required term; 

SIE00000394_0001 



EDINBURGH TRAM NETWORK-INFRACO CONTRACT 

7 the Materials and Parts can be inspected at the Premises or in Section 7 and Section 

6A at any time upon reasonable notice by tie, CEC or by their duly authorised agents; 

and 

8 we shall not, except for use on the lnfraco Works, remove or cause or permit the 

Materials or Parts to be moved or removed from the Premises or in Section 7 and 

Section 6A . 

We declare that property in the Materials and Parts shall unconditionally vest in CEC in 

accordance with the provisions of the agreed draft Minute of Variation (MoV4) upon receipt of the 

payment referred to above. 

We acknowledge our obligations pursuant to Clause 102.2.1 of the lnfraco Contract insofar as they 

relate to the Materials and Parts. 

Nothing contained in this Certificate or the lnfraco Contract or any payment that may be made to 

us in respect of the Materials or Parts shall be taken as any approval by tie, CEC or by their duly 

authorised agents that the Materials or Parts are in accordance with the lnfraco Contract. 

We Siemens pie of Faraday House, Sir William Siemens Square, Frimley, Camberley, GU16 800, 

England engaged under the lnfraco Contract by tie Limited for and on behalf as an operating 

company of City of Edinburgh Council in consideration of the payment to us of the sum of FOUR 

HUNDRED AND TWO THOUSAND, SIX HUNDRED AND SEVENTY SIX POUNDS (£402,676) by 

tie warrant that the statements made in provisions 1 to 8 above are true and correct and that all 

the actions referred to have been taken. 

Executed for and on behalf of Siemens PLC 

Authorised Signatory 

Full Name 

Axel Eickhorn 

Dated 

2 

SIE00000394_0002 



Subgroup 

REL 

REL 

Material 

Ste ed Poles 1451 cs 

Ste ed Poles 1451 cs 

Section 7 
Euro oles I Sie FARRANS 

Section 6A (Gogar 
Euco oles I s,e, De ot 

Unit 

51 

Customer Value Customer Value 

(EUR) [GBP) 
General Remark 

vested to CEC 17-M -2011 

vested to CEC 17-M -2011 

m 

0 

z 

CJ) 
(") 
:::I: -I 
m ;o 0 )> 
c 
r-

z 
m 

0 -I .,, � 
s: 0 

� 
;o 

m z 
:::0 .,, 
)> ;o 

r- )> 

CJ) en 
0 

)> C) 
0 
0 

z :c 0 
0 m 

z 

� 
0 -I 
c ;o 

:::0 r- )> 

-I m () 

(/) .... -I 

-I 

0 

m 
CJ) 
-I 

0 
z 

....:,.. 

...... 

....:,.. 
.... 

SIE00000394_0003 



EDINBURGH TRAM NETWORK-INFRACO CONTRACT 

SCHEDULE 2 

SCHEDULE OF ALL MATERIALS AND PARTS 

4 

SIE00000394_0004 



Siemens Material Location - Inventory 

Subgroup Material 

OWE Access locks 

OWE 

DWE Benches and E ui ment 

DWE Cleanin Machines 

OWE Com ressor station 

OWE Earthin e ui ment for catema 

OWE Electric Double Grinder 

DWE Electrical Hand Tools 

DWE Electrical measurin devices 

DWE Fo!din machine 

OWE 

OWE 

OWE Ladders and Scaffolds 

DWE Liftin lant 

OWE Macminder 

OWE Manual Lever Sni s 

OWE Mechanical Hand tools 

DWE Mechanical Measurin Devices 

DWE Mini rot Rail S stem 

OWE Mobile Liftin E ui ment 

OWE Overhead crane 

OWE Pallet stacker 

Siemens pie 
Mobility Complete Transportation 
Edinburgh Tram Network 
Axel EicKhom 

Schedule 2 
Schedule of Materials and Parts 

Rev: 17-May-2011 

Supplier 

Castell Safe 

Current 
Storage Location 

Broxburn, UK 

HAHN+KOLB Werkzeu e GmbH Siemens store Berlin 

HAHN+KOLB Werkzeu e GmbH Siemens store Berlin 

HAHN+KOLB Werkzeu e GmbH Siemens store Berlin 

Kaeser Broxburn, UK 

Siemens Siemens store Berlin 

HAHN+KOLB Werkzeu e GmbH Siemens store Berlin 

HAHN+KOLB Werkzeu e GmbH Siemens store Berlin 

HAHN+KOLB Werkzeu e GmbH Siemens store Berlin 

HAHN+KOLB Werkzeu e GmbH Siemens store Berlin 

A bril rail Broxbum, UK 

HA HN+KOLB Werkzeu eGmbH Siemens store Berlin 

HA HN+KOLB Werkzeu eGmbH Siemens store Berlin 

Siemens AG Broxburn. UK 

Oonfabs & Consilia Broxburn. UK 

HAHN+KOLB Werkzeu eGmbH Siemens store Berlin 

HAHN+KOLB Werkzeu eGmbH Siemens store Berlin 

HA HN+KOLB Werkzeu eGmbH Siemens store Berlin 

Bakerail Broxburn, UK 

HAHN+KOLB Werkzeu eGmbH Siemens store Berlin 

Street Crane Stock art, UK 

Siemens le Broxburn. UK 

Qty 

t set 

1 set 

15 sets 

2 unit 

1 set 

1 set 

1 unit 

t set 

1 set 

1 unit 

4 unit 

unit 

set 

unit 

unit 

unit 

30 set 

set 

unit 

set 

unit 

unit 

Unit 

Exchange rate 

Customer Value 
(EUR) 

0.8175 

Customer Value 
{GBP) 

General Remark 

onsists of 2 ieces 

et consists of bench. vice, tool chart 

onsits of 13 ieces and accessories 

onsists of 16 ieces 

ested to CEC 15-A r-2011 

nsits of 55 pieces and accessories 

consits of 24 ieces and accessories 

110517 _lnvenlory·List_ Vesting[AEl).xls 
plinted: 1610512011 16:00 

SIE00000394_0005 



Subgroup Material 

OWE Pal let truck 

DWE Pe!ro! Generator 

OWE Portable Li htin Stands 

DWE Safe and site rotection e ui ment 

DWE Scottish Voidmeter 

OWE Semi Automatic Hacksaw 

OWE Service Vehicle, B ies and Trailors 

OWE Sta boards, clam s 

OWE Sum um s 

OWE Tools for Fibre Glass Works 

OWE Tools for Point Machine Maintenance 

OWE Turn Table 

DWE Underfloor wheel lathe 

OWE Universal Works ho Lathe 

OWE Washin Plant 

OWE Was!e containers 

OWE Weldin Tools 

DWE Worksho Furniture 

DWE Worksho Furniture 

DWE Worksh Pillar Drillin Machine 

DWE Total 

REL Combined Poles ttl 372 s 

REL Combined Poles ttl 372 cs 

REL Combined Poles tt! 372 cs 

Siemens pie 
Mobili!y Complete Transportation 
Edinburgh Tram Network 
Axel Eici\h<Jm 

Schedule 2 
Schedule of Materials and Parts 

Supplier 

Pfaff-si!berblau Verkehrstechnik 

Current 
Storage Location 

GmbH & Co. KG Broxburn, UK 

HAHN+KOLB Werkzeu e GmbH Siemens store Berlin 

HAHN+KOLB Werkze e GmbH Siemens store Berlin 

HAHN+KOLB Werkze e GmbH Siemens store Berlin 

Abtus Broxburn, UK 

HAHN+KOLB Werkzeu e GmbH Siemens store Berlin 

G. Zwiehoff GmbH/Zweiwe Gmb Leichlin en, DE 

MC Electronic Broxburn. UK 

T&T Pum s Broxbum, UK 

HAHN+KOLB Werkzeu e GmbH Siemens store Berlin 

HAHN+KOLB Werkzeu e GmbH Siemens store Berlin 
Pfaff-silberblau Verkehrstechnik 
GmbH & Co. KG Pfaff. Enzensfeld, DE 

Siemens le H enscheidt Broxburn. UK 

HAHN+KOLB Werkzeu e GmbH Siemens store Berlin 

Smith Bros & Webb ltd. Edinbur h, UK 

HAHN+KOLB Werkzeu e GmbH Siemens store Berlin 

HAHN+KOLB Werkzeu e GmbH Siemens store Berlin 

HAHN+KOLB Werkzeu e GmbH Siemens store Berlin 

S errin Metal Broxbum .  UK 

HAHN+KOLB Werkzeu e GmbH Siemens store Berlin 

Pfeiffer I Siemens le 

Pfeiffer I Siemens le 

Pfeiffer I Siemens le 

Ortenber . DE 

Broxburn, UK 
Section 1 (Princes 
Street 

Qty 

3 unit 

2 unit 

10 unit 

1 set 

6 unit 

unit 

set 

set 

set 

set 

set 

unit 

unit 

unit 

unit 

1 set 

1 set 

1 set 

1 set 

1 unit 

41 

Unit 
Customer Value 

(EUR) 
Customer Value 

(GBP) 

--·--

I 

I 

I 
I 
I 

General Remark 

in container #2 with liftin lant 

consists of different equi ment 

consists of 1 0  d ifferent units 

I • nsists of different e ui men! 

I 
I 

I 

I 

I 

vested to CEC 1 5-A r-201 1  

vested to CEC 1 5-A r-201 1 

safe cabinets etc. 

vested to CEC 1 5-A r-201 1  

1 1 0517 _Inventory-List_ Vesting(AEl).xts 
printed: 161051201 1 16:00 

SIE00000394_0006 



Subgroup Material Supplier 

REL Contact Wire 1 50mm' 49.483m lsodraht f Siemens le 

REL Contact Wire 150mm' 49.483m Siemens AG 

REL Control Cable 5x2,5mm' - 700m Siemens le 

REL Control Cable 12x2,5mm' and 4x1 ,5mm' - 700m Siemens le 

REL Control Cable 3x4mm' - 11  oom 

REL Control Cable 7x2,5mm' - 52.000m 

REL Leitun f Cable N2XCH 4x2,5 REf2,5 0,6[1 kV 

REL Medium Volta e Cab le 95mm' - 600m 

REL Messen er Wire 25,554 m 

REL Messen er Wire 25,554 m 

REL Multifunctional distribution boards 

REL MV Sw lncomin + transformer feedin ane! 

REL OCL Material General 

REL OCL Material Alu Tubes L=8,0m 

REL OCL Material Constructions steel com onents 

REL OCL Material Isolators SEFAG 

REL Power cab!e DC 150mm' - s.ooom+20.600m 

REL Power cable DC 400mm' - 2.500m 

REL Rectifier Transformer 

REL Ste ed Poles / 451 cs. 

REL Ste ed Poles / 451 cs. 

REL Ste ed Po!es f 451 cs. 

REL Ste ed Poles r 451 cs. 

REL Ste ed Poles / 451 cs. 

Siemens pie 
Mobility Complete Transportation 
Edinburgh Tram Network 
Axel Eicknom 

Siemens le 

Siemens le 

Siemens le 

Siemens !c 

l sodraht f Siemens le 

Siemens AG 

Siemens le 

Siemens AG 

Siemens AG 

Siemens le 

Siemens AG 

Siemens le 

Siemens AG 

Siemens le 

Siemens AG 

Euro oles f Siemens le 

Euro oles I Siemens le 

Euro oles I Siemens le 

Euro oles I Siemens le 

Euro oles I Siemens le 

Schedule 2 

Schedule of Materials and Parts 

Current 
Storage Location 

Mannheim, DE 

Broxburn. UK 

Broxburn, UK 

Broxburn, UK 

Broxburn. UK 

Broxburn. UK 

Broxbum. UK 

Broxburn, UK 

Mannheim, DE 

Broxburn. UK 

Broxb urn, UK 

Broxb urn, UK 

Broxb urn, UK 

Broxburn. UK 

Broxburn. UK 

Broxburn. UK 

Broxburn. UK 

Broxburn. UK 

Broxburn, UK 

Neumarkt, DE 

Broxburn, UK 

Section 7 (FARRANS 
Section 6 (Gogar 
De at 
Section 6 (Gogar 
De ot 

31,055 m 

18.428 m 

700 m 

750 rn 

1 ,100 m 

52,500 m 

100 m 

617 m 

1 1 , 193 m 

14,361 m 

Unit Customer Value 
(EUR) 

Customer Value 
(GBP) General Remark 

vested to CEC 15-A r-2011 

vested to CEC 1 5-Apr-201 1  

vested t o  CEC 15-A r-2011 

vested to CEC 15-A r-201 1 

vested to CEC 15-A r-2011 

vested to CEC 15-A r-2011 

vested to CEC 15-A r-2011  

vested to  CEC 1 5-A r-2011 

vested to CEC 15-A r-201 1 

vested !o CEC 1 5-A r-2011 

vested to CEC 15-A r-2011 

vested to CEC 15-A r-2011 

vested to CEC 17-Ma -201 1 

vested to CEC 17-Ma -2011 

1 10517 _Inventory-List_ Vesting(AEl).xls 
plin!ed: 161051201 1  16:00 

SIE00000394_0007 



Subgroup Material 

REL TSS DC Coupling panel (bypass) Siemens AG 

REL TSS DC Disconnecter panel Siemens A G  

REL TSS DC REC Incoming & return cubicle Siemens AG 

REL TSS DC Rectifier Siemens AG 

REL TSS DC SCD Siemens AG 

REL TSS DC Track feeder panel cubicle (+depot) Siemens AG 

REL Total 

SIG Control centre hardware com uter. monitors swi Siemens AG 

SIG Control centre hardware VICOS ATT, VICOS Arc Siemens le 

SIG Data Mana er IVU 

SIG IMU boxes Siemens le 

SIG IMU100 A ntennas I Loo s Siemens le 

SIG IMU100 onboard ui ment GAF 

SIG IMU100 Receiver CPU850 16 cs Siemens le 

SIG IMU100 Receiver CPU850 25 cs Siemens AG 

SIG lnterlockin A i  ort, New Haven. Ocean Terminal Siemens AG 

SIG lnterlockin S7 De ot East, De t West Siemens AG 

SIG lnterlockin S7 Ha market Siemens AG 

SIG Multicore si nallin cable Siemens le 

SIG Panasonic Wide Screen Dis la 103 Barco 

SIG Point b!ockin circuits PSC Siemens AG 

SIG Point heatin control Siemens A G  

SIG Radio e ui ment for 27 trams GAF 

SIG TPDS onboard com uler CAF 

Siemens pie 
Mobrnty Complete Transportation 
Edinburgh Tram Network 
Axel Eickhom 

Supplier 

Schedule 2 
Schedule of Materials and Parts 

Current 
Storage Location 

Broxburn, UK 

Broxburn, UK 

Broxburn. UK 

Broxburn, UK 

Broxburn, UK 

Broxbum, UK 

Brox burn. UK 

Ashb -de-la-Zouch, U 

Aachen. DE 

Broxburn. UK 

Broxburn, UK 

lrun, ES 

Ashb -de-la-Zouch, U 

Braunschwei DE 

Broxburn, UK 

Broxburn, UK 

Broxburn, UK 

G ar Tram De 

Broxburn, UK 

lrun, ES 

lrun. ES 

Qty 

8 pcs 

8 PCS 

9 pcs 

9 pcs 

8 pcs 

19  pcs 

Unit 
Customer Value 

(EUR) 
Customer Value 

(GBP) General Remark 

vested to CEC 1 5-Apr-2011 

vested to CEC 1 5-Apr-201 1  

vested to CEC 1 5-Apr-2011 

vested to CEC 1 5-Apr-2011 

vested to CEC 15-Apr-2011 

whole system (inc!udes several PCs and other 
e ui ment 

r-2011 

vested to CEC 15-A r-201 1  

vested to CEC 1 5-Apr-201 1  

vested to CEC 15-A r-2011 

vested to CEC 1 S·A r-201 1 

1 10517 _Inventory-List_ Vesting{AEl).xls 
printed: 1610512011 16:oo 

SIE00000394_0008 



Subgroup Material 

SIG Wifi e ui men! 

SIG Total 

SIG/COM Antenna 

SIG/COM Batte Circuit Breakers 

SIG/COM Batte Circuit Breakers 

SIGfCOM Cable for oint heaters 

SIG/COM Coaxial cable 

SIG/COM Control centre UPS 

SIG/COM De t PABX 

SIG/COM De ot PABX tele hones onl 

SIG/COM Fibre O tic Cable 

SIG/COM Mechanical Points Ind icator 

SIG/COM Multicore si nallin cable 

SIG/COM NAL boxes 

SIG/COM OLE isolation cabinets 

SIG/COM Point Heaters 

SIG/COM Point Machines 

SIG/COM Point Machines 61 cs 

SIG/COM Radio base station e ui ment racks 

SIG/COM Radio base station e ui ment racks 

SIG/COM Radio base station UPS racks 3 o 

SIG/COM Radio e ui ment for 27 trams 

SIGfCOM Radio Masts 

Supplier 

IVU 

Siemens le 

Siemens le 

Siemens le 

Siemens le 

Siemens le 

Siemens le 

Siemens le 

Siemens le 

Siemens le 

DTS 

Siemens le 

Siemens le 

Siemens le 

Siemens le 

Siemens le 

Siemens le 

Siemens le 

Siemens le 

Siemens !c 

CAF 

Tait Euro e Lid 

SIG/COM Radio s stem - Hand Helds lus char ers lus ve Tait Euro e Ltd 

Siemens plc 
Mobility Complete Transportation 
Edinburgh Tram Network 
Axel Ei-ckhorn 

Schedule 2 
Schedule of Materials and Parts 

Current 
Storage Location 

Broxburn. UK 

Broxbum, UK 

Broxburn, UK 
Section 6A (Gogar 
De ot 

Broxburn. UK 

Broxbum. UK 
Section 6A (Gogar 
De t 
Section 6A (Gogar 
De ot 

Broxbum, UK 

Broxburn. UK 

Chesterfield, UK 

Broxburn, UK 

Broxburn, UK 

Broxburn. UK 

Broxburn. UK 

Broxburn. UK 
Section 6A (Gogar 
De ot 
Ashby-de-la-Zouch, 
UK 

Broxburn. UK 

Broxburn. UK 

lrun. ES 

Huntin don, UK 

Broxbum, UK 

1 set 

1 lot 

1 lot 

1 lot 

1 lot 

1 lot 

1 PCS 

1 PCS 

3 pcs 

3 pcs 

1 lot 

Unit 
Customer Value 

{EUR) 
Customer Value 

(GBP} General Remark 

vested to CEC 15-A r-201 1  

vested to CEC 15-A r-201 1 

vested to CEC 1 5-Apr-201 1 

vested to CEC 1 5-A r-201 1  

vested to CEC 1 5-A r-201 1  

vested to CEC 1 5-A r-201 1 

vested to CEC 1 5-A r-201 1  

vested to CEC 1 5-A r-201 1 

vested to CEC 1 5-A r-201 1 

stem 

vested to CEC 1 5-A r-201 1  

vested to CEC 1 5-A r-201 1  

stem 

vested to CEC 1 5-A r-201 1  

1 10517 _Inventory-List_ Vesting(AEl).Kls 
pr,nted: 16/051201 1  1 6:00 

SIE00000394 0009 



Schedule 2 
Schedule of Materials and Parts 

Subgroup Material 

SIG/COM Radio s stem - Control rack 

SIG/COM Radio s stem - 2 hand held radios incl. batteries 

SIG/COM S eaker cable 

SIG/COM Substation char ers 8 

SIG/COM Substation char ers 8 cs 

SIGICOM Substation comms racks B cs 

SIG/COM Substation comms racks 8 cs 

SIG/COM Tramsto e ui ment cabinet 23 0 

SIG/COM Tramsto e ui ment cabinet 23 o 

SIG/COM Tramsto e ui ment cable 

SIG/COM Tramsto 

SIG/COM Total 

Supplier 

Tait Euro e ltd 

e Ltd I CAF 

Siemens le 
Siemens pie (7 off Broxburn, 1 off 
G ar De ot Substation 
Siemens pie (7 off Broxburn, 1 off 
Go ar De ot Substation 
A shby & 1 off Gogar Depot 
Substation 
A shby & 1 off Gogar Depot 
Substation 
Siemens pie (4 off Broxburn, 19 
off Ashb 
Siemens pie (4 off Broxburn, 19 

Current 
Storage Location 

Ashb -de-la-Zouch U 

lrun, ES 

Broxbum. UK 

Broxburn, UK 

Section 6A (Gogar 
De ot 

Broxburn, UK 

Section BA {Gogar 
De t 
Ashby-de-la-Zouch, 
UK 

off Ashb Broxburn, UK 

Siemens Jc Broxburn. UK 

Siemens le Broxburn, UK 

SIG/SCA CCTV E ui men! - Cameras, Matrix, Stora e etc Siemens le 
A shby-de-la-Zouch, 
UK 

SIG/SCA Maintenance Workstation 2 

SIG/SCA ODN Hardware E ui ment 

SIG/SCA O rater Workstations 3 cs 

SIG/SCA PA Induction Loo 

SIG/SCA PA Tramsto E ui ment 

SIG/SCA Passen er Hel Points 35 

SIG/SCA Passen er information dis 

SIG/SCA Passen er information dis 

SIG/SCA PIO o!e roto es 

SIG/SCA S eakers Tramsto 

S!emens plc 

Mobility Complete Transportalion 
Edinburgh Tram Netw'ork 
Axel EicKllom 

42 cs 

Siemens le 

Siemens le 

Siemens le 

Siemens le 

Siemens le 

Commend 

Siemens c 

Siemens le 

Siemens le 

Penton 

A shby-de-la-Zouch, 
UK 

Ashby-de-la-Zouch, 
UK 

A shby-de-la-Zouch, 
UK 

A shby-de-la-Zouch, 
UK 

A shby-de-la-Zouch. 
UK 

A shby-de-la-Zouch, 
UK 

Ashby-de-la-Zouch. 
UK 

Broxburn, UK 

Broxburn, UK 

Qty 

lot 

lot 

1 lot 

1 101 

1 lot 

1 lot 

278 

Unit Customer Value 
(EUR) 

Customer Value 
(GBP) General Remark 

stem 

stem 

vested to CEC 1 5-A r-2011 

vested to CEC 15-A r-201 1 

vested to CEC 1 5-A r-2011 

vested to CEC 15-A r-2011 

ested to CEC 1 5-A r-2011 

1 10517 _Inventory-List_ Vesting{AEl).xls 
pnnted: 16/0512011 16.·oo 

SIE00000394 001 0 



Subgroup Material 

SIG/SCA S eakers Tramsto shelters 

SIG/SCA Tramsto SCADA E ui ment 

SIG/SCA Total 

TRW AGO-drain eve 60 meter in embedded track 

TRW Ballast Slee ers - Pos. 200170 

TRW Ballast Slee ers - Pos. 200170 

TRW Ballast Slee ers - Pos. 200170 

TRW Ballast Slee ers - Pos. 200170 

TRW Ballast Slee ers - Pos. 200170 

TRW Ballast Slee ers - Pos. 200170 

TRW Flat Bottom Rails standard Pos. 200020 

TRW Flat Bottom Rails standard - Pos. 200020 

TRW Flat Bottom Rails standard - Pos. 200020 

TRW Flat Bottom Rails standard - Pas. 200020 

TRW Flat Bottom Rails standard Pos. 200020 

TRW Grooved Rails Pos. 200030 

TRW Grooved Rails - Pas. 200030 

TRW Grooved Rails - Pas. 200030 

TRW Grooved Rails - Pas. 200030 

TRW Rail Fas!enin s for linth track - Pos.200140 

TRW Rail Fastenin s for Ii nth track - Pas. 200140 

TRW Small material 

TRW S ecifc Material for Grass Track - Pas. 200250 

TRW S ecifc Material for Grass Track - Pas. 200250 

Siemens. pie 
Mobility Complete TransportaUon 
Edinburgh Tram Network 
Axel EicKhom 

Penton 

Siemens le 

BAM Rail 

BAM Rail 

BAM Rail 

BAM Rail 

BAM Rail 

BAM Rail 

BAM Rail 

BAM Rail 

BAM Rail 

BAM Rail 

BAM Rail 

BAM Rail 

BAM Rail 

BAM Rail 

BAM Rail 

BAM Rail 

BAM Rail 

BAM Rail 

BAM Rail 

BAM Rail 

BA M Rail 

Supplier 

Schedule 2 
Sched ule of Materials and Parts 

Current 
Storage Location 

Ashby-de-la-Zouch,  
UK 

South Yards, 
Edinb ur h, UK 
Facility, Edinburgh, 
UK 
Section 6 Gogar 
De ot, Edinbur h. UK 
Busway, Edinburgh, 
UK 
Bridge site, 
Edinbur h, UK 
Section 7, Edinburgh, 
U K  
Gordon Bow Storage 
Facili 
Facility, Edinburgh. 
UK 
Section 6 Gogar 
De ot. Edinbur h, Uk 
Bridge Site, 
Edinbur h, UK 

Section 7. Edinbur h, 
currently in transit 
acc. to BAM) 

Facility. Edinburgh, 
UK 
Seclion 6 Gogar 
De ot. Edinbur h, Uk 
Bridge site, 
Edinb ur h, UK 
currently in transit 
acc. to BAM 

Facility, Edinb urgh , 
UK 
currently in transit 
acc. to BAM 

South Yards, 
Edinbur h. UK 
Facility, Edinburgh, 
UK 
Bridge site, 
Edinbur h, UK 

Qty 

7,884 m 

3,096 m 

8,604 m 

4,986 m 

1 4,670 m 

17,010 m 

144 m 

612 m 

1 ,292 m 

9,701 

1 lurn 

2,705 m 

244 m 

Unit Customer Value 
{EUR) 

Customer Value 
(GBP) General Remark 

1 1 0517 Jnventory-List_ Vesting(AEl).xls 

printed: 16/DS/201 1 1 5:00 

SIE00000394_001 1  



Subgroup Material 

TRW S ecific Material for embedded track - Pos. 20023 BAM Rail 

TRW Transitionrai!s - Pos. 200290 BAM Rail 

TRW Transitionrails - Pos. 200290 BAM Rail 

TRW Transitionrails - Pos. 200290 BAM Rail 

TRW Turnouts de ot acc. to ali nment drawin s - Pos BAM Rail 

TRW Turnouts de ot acc. to ali nment drawin s - Pos BA M Rail 

TRW Turnouts main-line - Pos. 200040 BAM Rail 

TRW Turnouts main-line - Pos. 200040 BAM Rail 

TRW Total 

Grand Total 

Siemens pie 
Mobmty Complete Transportation 
EdinburgM Tram Networ, 
Axel Eickhom 

Supplier 

Schedule 2 

Schedule of Materials and Parts 

Current 
Storage Location 

Facility, Edinburgh, 
UK 

Facility, Edinburgh, 
UK 

Section 6 Gogar 
De ot Edinbur h, Uk 
currently in transit 
acc. to BAM 

Section 6 Gogar 
De ot. Edinbur h. Uk 
currently in transit 
acc. to BAM 

Facility, Edinburgh, 
UK  

currently i n  transit 
acc. to BAM 

Unit Customer Value 
(EUR) 

Materials 

Materials 

Customer Value 
(GBP) 

£14,595,988 

£402,676 

General Remark 

vested to CEC 1 5-Apr-201 1  

vested to CEC 1 7-May-201 1 

1 1 0517 _Inventory-List_ Vesling(AEl).xls 
printed: 16/05/2011 16:00 

SIE00000394_001 2  



Category 

OCL Material (General 
OCL Material (General 
OCL Material Genera! 
OCL Material Genera! 
OCL Material General 
OCL Material General 
OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material General 
OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General) 
OCL Material Genera!) 
OCL Material General) 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General) 
OCL Material Generall 
OCL Material Generan 
OCL Material Genera!) 
OCL Material Genera! 
OCL Material (General 
OCL Material (General 
OCL Material General 
OCL Material General) 
OCL Material General 
OCL Material General 

Siemens pie 
Mobility Complete Transportation 
Edinburgh Tram Network 
Axel Eickhom 

8WL A2V 

8WL1013-2 A2V00000201334 
8WL1016-6 A2V00000201339 
8WL 1 01 8-2 A2VOOOD0201342 
8WL1023-2 A2V00000201346 
8Wl1026-5 A2V00000201350 
8Wl1028-2 A2V00000201354 
8Wl1033-2 A2V00000201358 
8WL1036-7 A2V00000201363 
SWL 1047-3 A2V00000201380 
BWL 1052-1 DBB:202003X-01 A2V00000200682 
8WL 1058-2 A2V00000201397 
SWL 1077-70 A2V00001020844 
8WL1078-7B A2V00001064199 
8WL1086-5A A2V00001 D07264 
8WL 1094-0 OBB: 151337X-01 A2V00000201463 
8WL1101-2 A2V00000201476 
8WL1104-2 A2V00000201484 
8WL111 0-0 A2V00000201497 
6WL 1110-2 A2V00000201499 
BWL 1112-2 A2V00000201 507 
8WL 1115-1 A2V00000201510 
8WL 1115-3 A2V00000201512 
8WL 1116-4 A2V00000201 520 
8WL 1118-6 A2V00000201532 
BWL1118-7 A2V00000201533 
8WL 1128-3 DBB:202025X-03 A2V00001664730 
BWL 11 28-4 DBB:202025X-04 A2V00000205523 
8WL 1128-5 DBB:202025X-05 A2V00000203235 
8WL1138-8 A2V00000201564 
BWL1141-0 A2V00000201565 
BWL1 141-7 A2V00000201568 
BWL1142-5 A2V0000020157 4 
8WL1180-7 A2V00000201609 
BWL 1201-0 DBB:200207X-02 A2V00000200657 
8WL 1202-0 DBB:200207X-03 A2V00000200658 
BWL 1202-3 A2V00000201635 
BWL1214-0 A2V00000201651 
SWL 1237 -2 DBB:20021 OA A2V00000200661 
BWL 1501-0 DBB:200111X-03 A2V00000200638 
8WL 1501-1 DBB:200111X-04 A2V00000200839 
8Wl1502-0 DBB:200111 X,02 A2V00000200637 
8WL1515-0 A2V00000201732 
8Wl1516-2 A2V00000201735 
BWL 1520-0 DBB:200107X-01 A2V00000200630 
8WL 1522-0 DBB:200107X-03 A2V00000201746 
8WL 1524-1 DBB:200107X-04 A2VOOD00201751 
8WL1553-0 DBB:2001 O?X-06 A2V00000200635 
8WL1 580-1 A2V00000201771 
BWL1601-2 A2VOOOOD201801 
BWL1604-3 OBB:200104X-12 A2V00000200623 
BWL1604-4 A2V00000201 B 15 

Details OCL Material 

Description - English 

Two pin clevis link 13 with Pins 
Two oin clevis link 16 with pins 
Two pin clevis link 19 with Dins 
Two pin strao 13, t 3mm 
Two pin strap 16, I 5mm 
Two oin strap 19, t-5mm 
Three Pin clevis link 13 with pins 
Three oin clevis link 16 with Pins 
Three Pin connection strap, t-5mm 
Strap 170, offset 
Four oin clevis link 1 9  with Pins 
Damoina device clevis/eve 16 L-1500 
Turnbuckle M20 eve 20/clevis 19 
Cross-soan tensioninc:i sorina 1-3kN 
Dou M16 
Pin DIN43161-13x40 
Pin DIN43161-16x40 
Pin DIN43161-19x52 
Pin OIN43161-19x52 
Pin DlN43161-19x100 
Split pin IS01234-5x28-Cu 
Solint IS01234-5x28-Al 
Piri with round head DIN43161-13x55 
Shackle 1 O with threaded pin and split 
Shackle12 with threaded oin and split 
Sprina washer A 10-nrFSt 
Spring washer A 12-nrFSt 
Sorina washer A 16-nrFSt 
Cross link clevislc!evis 19 with oins 
Pull-off clamp 13-70 for 1 wire 
Pull-off clamp 13-150 For 2 wires 
Strao, offset 60 For oull-off clamp 
Wedqe-tvoe dead-end clamo mlCI 1 9  
One-hole wedae 
Two-hole wedqe 
Special wedae 50 for steel wire 50mm' 
Cone-type dead-end clamo 19, 120 
Cone-type dead-end clamp 19/AC-120 
Thimble DlN43154-35, E-Cu 
Thimble OIN43154-35, Stainless steel 
Thimble DIN431 54-50, E·CU 
Insulated thimble 1 Of. Polvoropylen 
Thimble 8, Stainless steel 
Crimped connector 10F-20, E-Cu 
Crimped connector 25-55, E-Cu 
Crimoed connector 50-90, E-Cu 
Compression ioint for wire 16F-20 
Cable lua DIN46235-12-70-E-Cu 
Protection sleeve 35-80 
Sleeve ?Of/95-80, E-Cu 
Sleeve 95F-BO, E-Cu 

Description - German Ordered Unit 

Zweiloch-Doppellasche 13 mit Bolzen 780 ST 
Zwei!och-Ooppellasche 16 mit Bolzen 35 ST 
Zweiloch-Doooel!asche 19 mit Bolzen 2,300 ST 
Zweilochlasche 13, t-3mm 15 ST 
Zweilochlasche 16, t-Smm 16 ST 
Zweilochlasche 19, t=5mm 430 ST 
Orei!och-Doooel lasche 13 mit Bolzen 235 ST 
Dreiloch-Doooellasche 16 mit Bolzen 55 ST 
Dreiloch-VerbindunQslasche, t:5mm 22 ST 
Gekroofte lasche 1 70 1 5  ST 
Vierloch-Doopellasche 19 mit Bolzen 45 ST 
Schal!damoFer GabellOse 16 L=1500 130 ST 
Spannschloss M20 Ose 20/Gabel 19 225 ST 
Richtseilfeder 1 -3kN. Hub 1 OOmm 100 ST 
Backenklaue M16 220 ST 
Bolzen DIN43161-13x40-nrSt 5 ST 
Bolzen DIN43161-16x40-nrSt 10 ST 
Bolzen DIN43161-19x52 15 ST 
Bolzen DIN43161-19x52 2,860 ST 
Bolzen D!N43161-19x100 2,860 ST 
Splint IS01234-5x28-Cu 5,760 ST 
Splint IS01234-5x28-Al 8 ST 
Bolzen mil Rundkoof DIN43161-13x55 12 ST 
Schakel 10  mil Gewindebolzen und 145 ST 
Schakel 12 mit Gewindebolzeri und 130 ST 
Profilrino A 10-nrFSt 330 ST 
ProfilrinQ A 12-nrFSt 240 ST 
Profilring A 16-nrFSt 820 ST 
Kreuz!asche Gab el/Gabel 19 mit Bolzen 16 ST 
Auszuqsklemme 13-70 fur 1 Seil 5 ST 
Auszuosklemme 13-150 fur 2 Seile 10 ST 
Gekroepfte Lasche 60 Fuer Auszugsklemr 5 ST 
Kei!endklemme GTW 19 mit Bolzen 1,060 ST 
Einlochkeil 100 ST 
Zweilochkeil 470 ST 
Sonderkeil 50 fur Stahlseil 50mm2 550 ST 
Konus-Abspannklemme 19-1 20 110 ST 
Konus-Abspannklemme 1 9IAC,120 1 50 ST 
Kausche DIN43154-35, E-Cu 1 50 ST 
Kausche DIN43154,35, nrSt 1 ,200 ST 
Kausche DIN43154-50, E-Cu 1 00 ST 
lsolierkausche 1 Of, Polyproovlen 7,000 ST 
Kausche 8,  nrSt 3,805 ST 
Kerbverbinder 1 Of-20, E-Cu 7,000 ST 
Kerbverbinder 25,55, E-Cu 4 0  ST 
Kerbverbinder 50-90, E-Cu BO ST 
Pressverbinder 16F-20, nrSt 1 ,200 ST 
Kabelschuh DIN46235-12-70-E-Cu 13 ST 
SchutzhOlse 35-80 5 ST 
Schutzhulse 701195-80, E-Cu 50 ST 
Schutzhulse 95f-80, E-Cu 150 ST 

110415_1nventory-list_ Vesling(AEl).xls 
printed: 1610512011 16:05 

SIE00000394_001 3  



Category 

OCL Material (Genera! 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material !General 
OCL Material {General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material {General 
OCL Material General 
OCL Material General\ 
OCL Material General) 
OCL Material General) 
OCL Material General 
OCL Material General) 
OCL Material General) 
OCL Material General) 
OCL Material General 
OCL Material General 
OCL Material General) 
OCL Material General) 
OCL Material General) 
OCL Material General) 
OCL Material General) 
OCL Material General) 
OCL Material General) 
OCL Material General) 
OCL Material General) 
OCL Material General) 
OCL Material Generali 
OCL Material (General 
OCL Material !General 
OCL Materia! !General 
OCL Material (General 
OCL Material (General 
OCL Material !General 
OCL Material !General 
OCL Material !General 

Siemens pie 
Mobility Complete Transportation 
Edinburgh Tram Network 
Axel Eickhom 

8WL 

BWL1606-0 
BWL1606-1 
8Wl1614-0 DBB:100202X-01 
BWL1650-3 
8Wl2006-0A 
8Wl2007-1 
8WL2037-3 
8WL2082-6 
8WL2083-4 
8WL2095-0 
8WL2097-0 
8WL2097-0B 
8WL2097-1 
8WL2097-2A 
8WL2104-1 
8WL2104-2 
8WL21 14, 1 DBB:0596568 
8WL21 14-4 DBB:059656A 
8WL21 1 5-1 DBB:0596458 
8WL21 16-0 DBB:059616A 
8WL21 16-7A 
BWL21 16-7B 
8WL21 1 8-1 DBB:059662A 
8WL21 1 8-2 DBB:059662B 
8WL21 1 8-2A 
BWL21 1 8-4B 
BWL2120-7 
8WL2121-5 
8WL21 24-3 
8WL21 24-4 DBB:059850X-01 
8WL21 25-1 DBB:059835X-01 
BWL2126-3 DBB:059817X-01 
BWL2131-0 
BWL2142-8 DBB:059003A 
8WL2148-5 
8Wl2148-6 
8Wl21 50-0 
8Wl21 58-0A 
8Wl21 84-3 DBB: 202008X-04 
8WL2184-4 DBB:202GOBX-05 
8Wl21 84-7 DBB:20200BX-07 
8WL21 96-3 
8WL2201-0 
8Wl2205-0 
8WL2206-0 
8WL221 0-0 
8WL2214-0 
8WL221 5-0 
8Wl2216-0 
8WL2723-1 
8WL281 0,0 

Details OCL Material 

A2V Description - English 

A2V00000201823 Protection sleeve 120-70, Cu-ETP 
A2V00000201 824 Sleeve 1 20-130, E-Cu 
A2VD0000200447 Sleeve 50-130, Alcu 
A2V00000201853 Comoression clamo 8 
A2V00001391603 Swivel clio holder 55-16R 
A2V00000201868 Swivel clio holder 26 
A2V00001 1 39307 Catenarv wire suooort clamo 55/16 
A2V00000201941 Conductor suspension clamp 16-16 with 
A2V00000201946 Conductor suspension clamp 13 with 
A2V00000201953 Conductor suspension clamp 16-16 with 
A2V00000201956 Bridle susoension 55-60.3, fixed 
A2V00001 828856 Bridle susoension 70, fixed 
A2V00000201 957 Bridle auidina device 55-60.3 
A2V0000141 3976 Clevis d-1 7 
A2V00000201 978 Hook end fittinQ 42. compl. 
A2V00000201979 Hook end fittinQ 55 
A2V00000200150 Eve clamp 55, compl. 
A2V00000200149 Eve clamo 70, comol. 
A2V00000200123 Eve clamp 55, compl. 
A2V00000200124 Eve clamp 70/80, com pl. 
A2V00001075434 Twin droo bracket 42/42.4, compl. 
A2V00001 1 35591 Twin dro.o bracket 55, com.ol. 
A2V00000200156 Drop bracket 42, comp!. 
A2V000002001 57 Drop bracket 55 
A2VOOOO 1787558 Droo bracket 70/80 H-70, compl. 
A2V00001 028697 Drop bracket 55, compl. 
A2V00000202030 Clevis end fitting 70, compl. 
A2V00000202037 Clevis end fitting 55 
A2V00000202045 Cantilever swivel bracket for fastenina 
A2V0000020021 2  Cantilever swivel bracket 
A2V00000200202 Cantilever swivel bracket 
A2V00000200188 Swivel with clevis 19, L-62 
A2V00000202061 Pulley 88 with suspension. sinqle 
A2V00000200063 Double eye clamp for pull-off 
A2V00000202095 Hook clip 42, compl. 
A2V00000202096 Hook clio 55, comol. 
A2V00000202097 Cross-scan hook clamp for wire 25-50mm2 

A2V00001 020552 Cross-span eve clamp 25-70 
A2V00000200700 End cap 55 
A2V00000200701 End cao 70 
A2V00000200703 End cap 42 
A2V00001028694 Hook clip 42-80 for U-bolt M16 
A2V000002021 54 Clevis end fittina for connection with 
A2V000002021 56 Connector sleeve 70 
A2V000002D21 58 Connector sleeve 55 
A2V00000202160 Joint clevis for twin tube 
A2VOD000202163 Twin tube clamo 55-70 
A2VOOD00202164 Twin tube clamo 55-70 with eve 
A2VOD000202165 Twin tube clamo 55-70 with double eve 
A2V00001 1 59666 Drop bracket 48.3-60.3 H-70/90 comp!. 
A2V00000202198 GRP Round rod 26 RAL 1020 L=8m 

Description - German Ordered Unit 

SchutzhOlse 120-70, Cu-ETP 20 ST 
SchutzhOlse 120-1 30, E-Cu 20 ST 
Schutzhulse 50-1 30, Alcu 25 ST 
Pressklemme s 3,800 ST 
Klemmenhalter 55-16R 45 ST 
Klemmenhalter 26 1 00 ST 
Tragseildrehklemme 55/16 isoliert 600 ST 
Traaklemme 16-16 mit Kauschenhaken 15  ST 
Traaklemme 1 3  mit Hakenschrauben 40 ST 
Traaklemme 1 6-16 m1t Kauschenhaken 40 ST 
Seilqleiteraufhanaunq 55-60.3 730 ST 
Seilqleiteraufhanauna 70, fest 70 ST 
Seilaleiterfuhruna 55-60,3 55 ST 
Gabel d=17. nrSt 1 2  ST 
Hakenkloben 42, komol. 250 ST 
Hakenkloben 55 265 ST 
Osenschelle 55, kompl. 500 ST 
Osenschelle 70, komol. 1 60 ST 
Auaenschelle 55, komol. 1 ,750 ST 
Auoenschelle 70/80, kompl. 75 ST 
Doppelabzuahalter 42/42.4, komol. 45 ST 
Doppelabzughalter 55, komol. 160 ST 
Abzuahalter 42. komol. 225 ST 
Abzuahalter 55 865 ST 
Abzughalter 70/80 H=70, kompl 1 40 ST 
Abzuahalter 55, komol. 22 ST 
Gelen!<qabel 70, komol. 90 ST 
Gelenkqabel 55 500 ST 
Gelenxbock fur Soannbandbefestiauna 855 ST 
Gelenkbock, G-AI 30 ST 
Gelenkbock. G-AI 205 ST 
Drehqelenk mil Gabel 1 9, L-62 2,860 ST 
Seilrolle 88 mil Aufhangung, einfach 40 ST 
Doppelosenklemme fur Bogenabzua 2 ST 
Hakenschelle 42, komol. 270 ST 
Hakenschelle 55, komol. 330 ST 
Hakenklemme fur Seil 25-50mm2 310  ST 
Richtseilosenklemme 25-70 270 ST 
Verschlusskappe 55 1 ,800 ST 
Verschlusskaooe 70 70 ST 
Versch!usskapoe 42 260 ST 
Hakenschelle 42-80 fuer 595 ST 
Gelenkaabel fur lsolatoranschluB 1 ,820 ST 
Rohradaoter 70 160 ST 
Rohradapter 55 2,080 ST 
Ge!enkaabel fur Doooelrohr 2 10  ST 
Doooelrohrschelle 55-70 1,330 ST 
Doooelrohrschelle 55-70 mit Auae 235 ST 
Doopelrohrschelle 55-70 mi! Doooelauqe 100 ST 
Abzuqha!ter 48,3-60.3 H-70/90 kompl. 5 ST 
GFK-Rundstab 26 RAL 1 020 L=Sm 104 M 

1 1 041 S_lnventory-List_ Vesting(AEl).xls 
printed: 16/051201 1  16:05 

SIE00000394_001 4  



Category 

OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material <General 
OCL Material <General 
OCL Material <General 
OCL Material (General 
OCL Material General 
OCL Material General 
OCL Material General) 
OCL Material General) 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General) 
OCL Material General) 
OCL Material General) 
OCL Material General) 
OCL Material General\ 
OCL Material General\ 
OCL Material General) 
OCL Material 1Genera!) 
OCL Material I General) 
OCL Material General) 
OCL Material General\ 
OCL Material Genera!) 
OCL Material General) 
OCL Material General) 
OCL Material (General) 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material !General 
OCL Material General 
OCL Material (General 
OCL Material General 
OCL Material General 
OCL Material (General 
OCL Material General 
OCL Material General 

Siemens pie 
Mobility Complete Transportation 
Edinburgh Tram Network 
Axel Eickhom 

8WL 

8WL2813-0 
8Wl2815-0 
8Wl2832-5 
8Wl2832-7 
8Wl2833-0 
8Wl2833-1 
8Wl3001-2 
8Wl3021-3C 
8WL3120-5 
8WL3122-1 
8Wl3132-1 
8WL3508-0 
8WL3514-0 
8WL3520-2 
8WL3521-0 
8WL3521-3 
8WL3523-0 
8WL3526-8 
8WL3554-6 
8WL3575-0 
8WL4003-4 
8WL4502-0 DBB:102107X-71 
6Wl4505-3 
8Wl4505-5 DBB:074242A 
8Wl4505-7 DBB:074246A 
8WL4517-1l DBB:059506-3-A 
8Wl4517-1M DBB:059506-3-C 
8Wl4524-1B DBB:059321X-72 
8WL4536-1 
8Wl4537-2 
8Wl4578-2 
8WL4581-D 
8WL4581-2 
8WL4583-0 
8WL4601-7 
8WL4612-0 
8WL4620-0 DBB:07421281 
8WL4621-3 
8WL4622-4A 
8WL4624-4 
6WL4647-2 
8WL4655-1 
6WL5006-1A 
8WL5078-0C 
8WL5100-0 OBB:081008X-02 
8WL5101-0 DBB:081008X-01 
8WL5102-0 OBB:081008X-04 
8WL5103-0 DBB:081006X-03 
8WL5154-0 DBB:202001 81600 
8WL5155-0 
8WL5160-0 

Details OCL Material 

A2V Description - English 

A2V00000202206 GRP Round rod 55 RAL1020 L-8.0m 
A2V00000202212 GRP Oval rod 23x33 RAL 1020 L-6.0m 
A2V00001019226 Fittinq 26 with eve 17 
A2V00000202245 Fittinq 26 with c!evis d 17 
A2V0000020224 7 Hook end clamp for GRP rod 23x33,comol. 
A2V00000202248 Swivel clip holder 16R f.GRP rod 23x33 
A2V0000122061 0  Loop insulator 1.5kV DC 
A2V00001054719 Insulating rod 26 clc 16 RAL1020 L-2000 
A2V00000202454 Insulator body M16IM16 3kV 50kNl9kN 
A2V00000202456 Insulator body M161M16 1.5kV DC 
A2VD0000202464 lnsualtor bodv for underbridae support 
A2V00000202507 Steadv arm L=775 
A2V00000202521 Steady arm with GRP rod 23x33 and 
A2V00000202533 Bridle-and-Pulley suspension with 
A2V00000202535 Rope pulley 
A2V00000202536 Pulley insulator R-6 
A2V00000202540 Pull-off arm 
A2V00001016572 Underbridoe and tunnel support for 
A2V00001029239 Line hanger 16R for 1.5kV 
A2V00000202604 Underbridae fastenina f.elaslic suooort 
A2VOOOOD202642 STARTING WASHER WC16 DU 
A2V00000200456 Conductor crossina clamo 50-95 
A2V00000202738 Clarno 120-150, Tin bronze 
A2V00000200306 Connection clamo 25-70 
A2V00000205005 Stitch wire clamp 25-50135-150 
A2V00001187052 Contact wire clip 16R with U-pin 
A2V000011871 1 3  Contact wire clip M16 
A2V00001071270 Clamp holder 55 fur wire 50-120mm• 
A2V00000202827 Parallel araove clamp 22 
A2VOD000202828 Parallel aroove clarnp35 
A2V00000202881 Parallel oraove clamp 120-185 
A2V00000202891 Parallel ciraove clamp 150 
A2V00000202893 Conductor clamp 95f-150fl120-165 
A2V00000202902 Feeder clamp 120f1Ri80-150 for small 
A2V00000202963 Spacer sleeve 01811 2x16 
A2V00000202977 Slidino dropper clip for catenarv 
A2VOOOD0200282 Dropper clip 50 
A2V00000202998 Dropper strao d-12.5 
A2V00001013250 Groove clamp for wires up to 25mm' 
A2V00000203018 Dropper clip 120 
A2V00001177806 Guy clamp contact wire-catenarv wire 
A2V00000203044 Wire clio 50 
A2V00001036068 Adiustina strap for tensionina device 
A2V00001452207 Tension wheel assembly up to 24kN 
A2V00000200334 Weiqht d=200 h-60 12.51<.g 
A2V00000200333 Weiaht d-203 h-120 25kq 
A2V00000200336 Weiaht d-300 h-26 12.5kq 
A2V00000200335 Weiaht d-300 h-53 25kq 
A2V00000200674 Support bar M22x1 SOD with washer and 
A2V00000203118 Support bar M22x2000 with washer and 
A2V00000203120 Eaualizinq pulley 75 (mlCI) with 

Description • German Ordered Unit 

GFK-Rundstab 55 RAL 1020 L=S,Om 80 M 
GFK-Ovalstab 23x33 RAL1020 L 6 .0m 1,758 M 
Huelse 26 mit Auae 17 30 ST 
HUise 26 mit Gabel d=17 30 ST 
Hakenk!oben fur GFK-Stab 23x33, kompl. 275 ST 
Klemmenhalter 16R fOr GFK-Stab 23x33 1,935 ST 
Schlinaenisolator 1, 5kV DC 1 ,480 ST 
lsolierstab 26 GIG 16 RAL 1020 L 2000 26 ST 
lsolierkomer 3kV 50kNl9kN M161M16 2,150 ST 
lsolierkomer M161M16 1.5kV DC 22 ST 
StOtzisolator Form B 18 ST 
Seitenhalter L=775 50 ST 
Seitenhalter mi! GFK-Stab 23x33 und 22 ST 
Seilgleiter mit Kunststoffseil d=9mm 1 ,140 ST 
Seilrolle mit Osenaabel 290 ST 
Rollenisolator R-6 12 ST 
Abzui:iarm 92 ST 
Deckenhalter fur 1 Traaseil bis 185mm' 12 ST 
Fahrdrahthalter 16R fUr 1,5kV 30 ST 
Oeckenbefestiqung tor elast.Stutzounkt 12 ST 
Anlaufscheibe WC 16 DU 18 ST 
Kreuzstromklemme 50-95 6 ST 
Zahnklemme 120-150, CuSn 16 ST 
Verbindunasklemme 25,70 16 ST 
Beiseilklemme 25-50/35-150 150 ST 
Fahrdrahtklemme 16R mit Buaelsolint 1,950 ST 
Fahrdrahtklemme M16 100 ST 
Klemmenhalter 55 fur Seil 50-120mm' 10 ST 
Steaklemme 22 170 ST 
Steaklemme 35 60 ST 
Stromklemme 120-185 140 ST 
Stromklemme 2x150 10 ST 
Seilklemme 95f-150fl120-185 750 ST 
Speiseklemme 120f/Ri60-150 bei Qerincie1 750 ST 
Distanzrohr 018112x16 80 ST 
Gleithanoerklemme fur Traoseil 40 ST 
Hamierklemme 50 3,500 ST 
Aufhangebugel d-12,5 80 ST 
Schlitzklemme fur Seile bis 25mm' BO ST 
Hanaerklemme 120 3,500 ST 
Verbindunqsklemme Fahrdraht-Traoseil ' 60 ST 
Seilschelle so 235 ST 
Einstel llasche Fur Radsoanner 60 ST 
Radspanner bis 24kN 90 ST 
NachspannQewicht d-200 h=60 12 ,Ska 50 ST 
Nachsoannaewicht d=203 h-120 251<.a 205 ST 
Nachspannoewicht d-300 h-26 12,5ko 125 ST 
Nachsoannoewicht d=300 h-53 25k!l 1,200 ST 
GewichtsstanQe M22x1800 mit Scheibe u 45 S T  
Gewichtsstancie M22x2000 mit Scheibe u 16 ST 
Sei!rolle 75 (GTW) mit Laschen (St-tZn) 90 ST 

1 1 0415 _Inventory-Lisi_ Vesting(AEl).xls 
printed: 16/05/201 1 16:05 

SIE00000394_001 5  



Category 

OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General) 
OCL Material General) 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material Genera! 
OCL Material Genera!) 
OCL Material General) 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General) 
OCL Material General 
OCL Material Generali 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material (General 
OCL Material (General 
OCL Material General\ 
OCL Material Genera!) 
OCL Material Genera!) 
OCL Material (General) 
OCL Material (General 
OCL Material !General 
OCL Material !General 
OCL Material General) 
OCL Material Genera!) 
OCL Material General) 
OCL Material General) 
OCL Material General 
OCL Material (General 
OCL Material General 
OCL Material General) 
OCL Material Genera!) 
OCL Material Genera! 
OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material General 
OCL Material General 
OCL Material General) 
OCL Material General) 

Siemens pie 
Mobility Complete Transportation 
Edinburgh Tram Network 
Axel Eickhom 

8WL A2V 

8WL51 62-1A A2V00001406858 
8WL51 67-5 A2V00001 1 77189 
8WL5170-0 DBB:081 003A A2V00000200330 
8WL5517-5C A2V00001801600 
8WL5533-0 A2V0000020321 9 
8WL5545-7A A2V00001 160177 
8WL5546-1 A2V00000203256 
8WL5546-3 A2V00001750726 
8WL5548-4D A2V00001 158224 
8WL6134-4 A2V00001 215400 
BWL61 34AA A2V00001 714023 
8WL61 35-2A A2V00001 21 5568 
BWL61 36-0 A2V00001 860356 
BWL6214-1 A2V00000203424 
8WL6215-0 A2V00000203426 
BWL6221 -2 OBB:059612A A2V00000206340 
8WL6225-2 A2V00000203459 
8WL6227-2A A2V00001396638 
8WL6231-6 A2V00000203472 
8WL6247-8A A2VOOOO 1000731 
8WL6503-7A A2VOOOD1 140217 
8WL6504-6 A2VOOOO 1 1 84630 
BWL6538-0 A2VOOOO 1046700 
8WL6730-5 A2VOOD00203609 
8WL6730-6 A2V0000020361 0 
8WL6731,6 A2V00000203613  
8WL6732-6 A2V00000203617 
8WL6743-0 A2V00000203633 
BWL6748-0 A2V00000203637 
BWL6748-6 A2V00000203640 
BWL6751-0 A2V00000203642 
BWL7024-0 A2VOD001058330 
8WL7060-2 DBB:200101X-09 A2V00001200194 
8WL7076-0 D8B:200101X-19  A2V00000200603 
8WL 7090-0 DBB:2001 02X-03 A2V00000200610 
8WL7090-0C A2V00001 1 55165 
8WL7091-6 A2V00001 071757 
BWL7093-2 OB8:200101X-31 A2V00000200604 
BWL7093-3 A2V00000203731 
BWL7097-0 A2V00000203736 
8WL8025-3 A2V00000203909 
8WL8025-4 A2VOOOD020391 0 
8WL8025-5 A2V0000020391 1 
8WL8D25-6 A2V0000020391 2 
8WL8025-7 A2V00000203913  
8WL8037-1 A2V00000203927 
BGS:51 6. 141 . 1  / B631 003A02 A2V00001221 724 
DBB:045442D A2V00000204848 
DBB:059601A A2V000002001 1 6 
DBB:059887X,01 A2V00000200243 
DHl:260360 A2V00001 1 06408 

Details OCL Material 

Description - English 

Pulley 98 with c!evis 
Guy clevis with pulley 
Clarno 26 for suooort bar 26 
Section insulator 1 .  5 kV DC 
Settino looo AC-120 
Uqhtweiaht section insulator up to 3kV 
Section insulator 1 .5kV with insulating 
Section insulator 1 .5kV with insulating 
Turnbuckle M8 L=1 80-240 for section 
Disconnector with composite insulators 
Disconnector with composite insulators 
Support for disconnector, stainless steel 
Rotation anole sensor unit 24V for disconnectors 8WL61 34 
Manual operating mechanism.stroke 200mm 
Padlock with 2 kevs for manual 
Clevis end fittina 26, compl. 
Tonque end fittinQ 26 offset, comp!. 
Lockina olate. htqSt 
Fittino for ooeratino linkaae 
Guide for ooeratinq tube 26 
Vo!taae limiter with wire 50m m2 for fasteninq on pole or stn 
Vo!taae limiter element 350V DC liqhtnina resistant 
Surqe arrester for DC 1 kV 1 OkA 
Cable strap for 1 cable d-20-24mm 
Cable strap for 1 cable d-25-30mm 
Cable strap tor 2 cables d:25-30mm and 
Cable strap for 4 cables d-25-30mm and 
Punch-lock band 19x1 .0 (reel L=30m) 
Loop 20, Stainless steel 
Lock for punch-lock band. adiustable 
Punch-lock band for 1 -3 cables L-330, polvamide, black 
Solid wire d-1 .39mm flexible 
Wire 1 Ox49, Bronze 
Wire DIN431 38 - E-Cu - 120x336 
Steel wire 50rnrn' d"9.5mm 
Steel wire 50mm' (d-9.Smm\ L"c7.5m 
Wire 12 EN 1 2365.4 6x19M-WSC 1770 8 sZ 
Stainless steel wire rooe d-6mm 
Stainless steel wire rooe d-Bmm 
Svnthetic wire (Minoroc-wirel d=9mm 
Axle for underbrigde support 
Suooort anqle 
Fastenma olate. GF-UP oul 
Pullev for 1 wire uo to 1 85mm' 
Spacer tube Da-31, Di-16.5. L-20.5, polyamide 
Tensionina sorino 120 L"1045-1205 
Feeder clarnp 80-150/1xM12 
Parts for pole anchor 
Clevis end fittinq 55 compl. ctAL 
Rod 
Dowel HPS,1 R6/1 5x40-A2 

Description - German Ordered Unit 

Seilrolle 98 mit Gabel 90 ST 
Absoanngabel mit Sei lrolle 45 ST 
Schelle for Gewichtsstange 26 60 ST 
Streckentrenner 1,5 kV DC 30 ST 
EinstellbOoel AC-120 10  ST 
Leichtbau-Streckentren ner bis 3kV DC 18  ST 
Streckentrenner 1 ,5kV mit lsolierkufen 10  ST 
Streckentrenner 1 ,5kV mit lsolierkufen 5 ST 
Spannschloss M8 L=1 80-240 nrSt filr 80 ST 
Trennschalter mit Verbundisolatoren 12  ST 
Trennschalter mit Verbundisolatoren 1 5  ST 
Konsole fur Trennschalter 13  ST 
Drehwinkelsensoreinheit fuer 6 ST 
Handantrieb. Hub 200mm, G-AI 24 ST 
Vorhangeschlol1 mil 2 SchlOsseln filr 1 8  ST 
GelenkstOck 26 mil Gabel. kompl. 600 ST 
GelenkstOck 26 rnit Auge einseitig, kpl. 26 ST 
Verrieaelunasolatte. SHZn 8 ST 
GelenkstOck tor Schaltergestanoe 26 ST 
GestanoefOhrung 26 mi! Gewinde M16 1 80 ST 
Spannunossicheruno mit Seil 50mm' fur 20 ST 
Sicherunaseinsatz 350V DC 20 ST 
Obersoannungsableiter fur DC 1 kV 1 OkA 21 ST 
Kabe!traaer fur 1 Kabel D-20-24mm 85 ST 
Kabe!traaer fur 1 Kabel 0"25-30mm 1 35 ST 
Kabeltraoer fur 2 Kabel D=25-30mm und 1 25 ST 
Kabeltraoer fOr 4 Kabel D=25-30mm und 1 0  ST 
Spannband 1Qx1 ,0 (Rolle L-30m) 1 ,500 M 
Schlaufe 20, nrSt 1 ,500 ST 
Verschlui?, fOr Soannband, verstellbar 1 80 ST 
Spannband fur 1 -3 Kabel L-330 1 0  ST 
Stahldraht d-1 ,39mm ftexibe! 50 M 
Seil 1 Ox49-Bz 5,500 M 
Seil DIN43138 - E-Cu - 120x336 1 ,600 M 

Stahlseil 50mm' d-9,5mm 1 , 100 M 
S1ahlseil 50mm' (d"9,5mm\ L=7.5m 100 ST 
Seil 1 2  EN 12385-4 6x1 9M-WSC 1 770 B 1 ,800 M 
Drahtseil mit Stahllitzeneinlaae d-6mm 1 , 100 M 
Drahtseil mit Stahllitzeneinlaoe d=8mm 16,500 M 
Kunststoffseil (Minoroc) d-9mm 200 M 

Achse DIN1443-B 16H1 1X210x195x5-A2 10  ST 
Befestigungswinkel 18  ST 
Befestia unasolatte 10  ST 
Seilrolle fOr 1 Seil bis 1 85rnrn' 18  ST 
Ois!anzrohr 16,5x31 x2D,5 36 ST 
Nachsoannfeder 1 20 L"1045-1205 16 ST 
Soeiseklemme 80-1 50/1 xM 12  425 ST 
Einzeltei!e fUr Mastanker 235 ST 
Gelenkqabel mil Rohranschluss 55, 52 ST 
Zugstanqe M20x190-A2 90 ST 
Schlagdubel HPS-1 R6/1 5x40,A2 100 ST 

11041 5_!nvento,y- LisL Vesting(AEl).xls 
printed: 161051201 1  16:05 

SIE00000394_001 6  



Category 

OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material (General 
OCL Material General 
OCL Material (General\ 
OCL Material (General\ 
OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material (General) 
OCL Material (General\ 
OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material <General) 
OCL Material (General) 
OCL Material (General\ 
OCL Material (General\ 
OCL Material General) 
OCL Material (General) 
OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material !Genera l 
OCL Material General) 
OCL Material Genera!) 
OCL Material (Genera! 
OCL Material (General 
OCL Material (General 
OCL Material General 
OCL Material General) 
OCL Material General 
OCL Material General 
OCL Material (General 
OCL Material (General 
OCL Material General 
OCL Material General) 
OCL Material General) 
OCL Material Gene ran 
OCL Material Genera!) 
OCL Material General 
OCL Material General 

Siemens pie 
Mobi!ity Complete Transportation 
Edinburgh Tram Network 
Axel Eickhom 

SWL 

DHl:260363 
DHl :387092 
DJN :125-A06,4-A2 
D1N :125-AOB,4-A2 
DIN :125-A10,5-A2 
DlN:125-A13-A2 
DIN:125-A17-A2 
DIN:125-A21-A2 
DIN: 1471-05X032-A2 
DIN: 1473-06X020-A2 
DIN: 1481-08X060-A2 
DIN: 1481-08X070-A2 
DIN:3016-1-A 1-22X25-W4 
DI N:3016-1-A 1-25X25-W4 
DI N:46235-12-150-CU-S 
DIN:551-M16X050-A2 
DIN :7349-21-A2 
DIN:9021-13-A2 
DJN:9021-17-A2 
DIN :931-M06X040-A2-70 
DIN:931-M16X130-A2-70 
DIN:931-M16X160-A2-70 
DIN:933-M1 OX020-A2-70 
DIN :933-M 1 OX030-A2-70 
DIN :933-M 1 OX035-A2-70 
DIN :933-M 1 OX040-A2-70 
DIN :933-M 1 OX060-A2-70 
DIN:933-M12X025-A2-70 
DIN:933-M12X030-A2-70 
DJN:933-M12X040-A2-70 
DIN:933-M 12X045-A2-70 
DIN :933-M 16X025-A2-70 
DIN:933-M16X030-A2-70 
DIN:933-M16X040-A2-70 
DJN:933-M16X045-A2-70 
DIN:933-M16X050-A2-70 
DIN:933-M16X060-A2-70 
DIN:933-M16X090-A2-70 
DIN:933-M16X100-A2-70 
OlN:933-M20X075-A2-70 
DIN:933-M20X140-A2-70 
DJN:934-M06-A4-70 
DIN:934-MOB-A4-70 
DIN:934-M10-A4-70 
DIN:934-M12-A4-70 
DIN:934-M16-A4-70 
DIN:934-M20-A2-70 
OIN:963-M16X025-A2 
DIN: 976-BM12X330-A2-70 
DIN:976-BM16X200-A2-70 
DIN :976-BM16X240-A2-70 

Details OCL Material 

A2V Description - English 

A2V00001288484 Dowe\ HPS-1 R8/10x40 
A2V00001847374 Grout HIT-RE 500-SD/330/1 
A2VOODD0200769 Washer DIN125-A6.4-A2. stainless steel 
A2V00000200770 Washer DIN125-A8.4-A2. stainless steel 
A2V00000200771 Washer DIN125-A 10.5-A2 
A2VOOODD200773 Washer DIN 125-A 13-A2 
A2V00000200775 Washer DIN 125-A 17-A2 
A2V00000200778 Washer DIN 125-A21 -A2 
A2V00000200829 Grooved pin DIN 14 71-5x32-A2. stainless steel 
A2V00000200834 Grooved oin DIN1473-6x20-A2 
A2V00000200856 Pres tressed sleeve DIN 1481-8x6D-A2 
A2V00000200857 Prestressed sleeve DIN1481-8x70-A2 
A2V00001355308 Clarno DIN 3016-1-A1-22x25-W4 
A2VOD001852808 Clarno DIN 3016-1-A1-25x25-W4 
A2V00001087200 Cable lug DIN46235-1 2-150-Cu-S 
A2V00000200962 Slotted set screw DlN551-M16x50-A2 
A2V00001112146 Washer DIN7349-21-A2 
A2V00000201066 Washer DIN9021-13-A2, stainless steel 
A2V00000209312 Washer DIN9021-17-A2 
A2V00000201 078 Hexaqon bolt DIN931-M6x40-A2-70, soecial lubricant on w< 
A2V00000201 110 Hexagon bolt DIN931-M16x130-A2-70, soecial lubricant on 
A2VOOOD0201112 Hexagon bolt DIN931-M16X160-A2-70 
A2V00000201150 Hexagon bolt OIN933-M10x20-A2-70 
A2V00000201154 Hexaaon bolt DIN933-M10x30-A2-70, soecial lubricant on v 
A2V00000201156 Hexaaon bolt OIN933-M10x35-A2-70 
A2V00000201159 Hexaaon bolt DlN933-M10x40-A2-70 
A2V00000201165 HexaQon bolt D1N933-M1Dx60-A2-70 
A2V0000020117 4 Hexaqon bolt DIN933-M12X25-A2-70 
A2V00000201176 Hexaqon bolt DIN933-M12x30-A2-70, soecial lubricant on � 
A2V00000201181 Hexaqon bolt DIN933-M12X40-A2-70 
A2V00000201183 Hexaqon bolt DIN933-M12x45-A2-70 
A2V00000201199 Hexaqon bolt DIN933-M16x25-A2-70 
A2V00000201200 Hexaaon bolt DIN933-M16x30-A2-70 
A2V00000201205 Hexaaon bolt DIN933-M16x40-A2-70 
A2V00000201208 Hexaaon bolt DIN933-M16x45-A2-70 
A2V00000209330 Hexaqon bolt DIN933-M16x50-A2-70, special lubricant on � 
A2V0000020121 3  Hexaaon bolt DIN933-M16x60-A2-70, soecial lubricant o n  " 
A2V00000201220 Hexaaon bolt DIN933-M16x90-A2-70 
A2V00000201222 Hexaqon bolt DIN933-M16x100-A2-70 
A2V00000201231 Hexaqon bolt DIN933-M20X75-A2-70 
A2VOD000209340 Hexaoon bolt DIN933-M20x140-A2-70 
A2V00000201235 Hexaaon nut DIN934-M6-A4-70, stainless steel. special lub 
A2V00000201237 Hexaoon nut DIN934-M8-A4-70, stainless steel, soecial lub 
A2V00000201242 Hexaaon nut OIN934-M1 O-A4-70 
A2V00000201245 Hexaaon nut DJN934-M12-A4-70 
A2V00000201248 HexaQon nut DJN934-M16-A4-70 
A2V00000201252 Hexaaon nut DIN934-M20-A2-70 
A2V00000201273 Countersunk screw DIN963-M16x25-A2 
A2V00000201289 Threaded pin DIN976-BM12x330-A2-70 
A2V00001072588 Threaded rod DIN976-BM16x200-A2-70 
A2V00001293086 Threaded oin OJN976-8M16x240-A2-70 

Description - German Ordered Unit 

Schlaqdlibel HPS-1 R8/10x40 900 ST 
lniektionsmoertel HIT-RE 500-SD/330/1 ST 
Scheibe DIN125 A6.4-A2 40 ST 
Scheibe DIN 125-AB.4-A2 40 ST 
Scheibe DIN125-A10,5-A2 7,300 ST 
Scheibe DIN125-A13-A2 360 ST 
Scheibe DIN125-A17-A2 1,250 ST 
Scheibe DIN125-A21-A2 5,050 ST 
Keae1kerbstift DIN1 471-5x32-A2 52 ST 
Zvlinderkerbstift DIN1473-6x20-A2 250 ST 
Spannstift DIN1481-8x60-A2 2.100 ST 
Soannstift DIN1481 -8x70-A2 170 ST 
Schelle DIN 3016-1 -A1-22x25-W4 850 ST 
Schelle DIN 3016-1 -A1-25x25-W4 85 ST 
Kabelschuh DlN46235-12-1 50-C u-S 750 ST 
Gewindestift DIN551-M16x50-A2 2,250 ST 
Scheibe DIN7349-21-A2 900 ST 
Scheibe DIN9021-1 3-A2 20 ST 
Scheibe DIN9021-1 7-A2 60 ST 
Sechskantschraube DI N931-M6x40-A2-7C 30 ST 
Sechskantschraube DI N931-M16x130-A2 10 ST 
Sechskantschraube DI N931-M16x160-A2 120 ST 
Sechskantschraube DIN933-M10x20-A2- 120 ST 
Sechskantschraube DIN933-M10x30-A2- 20 ST 
Sechskantschraube DIN933-M10x35-A2- 130 ST 
Sechskantschraube DIN933-M10x40-A2- 190 ST 
Sechskantschraube DIN933-M10x60-A2- 3,350 ST 
Sechskantschraube DI N933-M 12x25-A2-, 20 ST 
Sechskantschraube DIN933-M12x30-A2-, 20 ST 
Sechskantschraube DIN933-M12x40-A2- 250 ST 
Sechskantschraube DIN933-M 12x45-A2- 40 ST 
Sechskantschraube DIN933-M 16x25-A2-, 50 ST 
Sechskantschraube OIN933-M16x30-A2- 140 ST 
Sechskantschraube DIN933-M16x40-A2- 145 ST 
Sechskantschraube DIN933-M16x45-A2- 2.400 ST 
Sechskantschraube DIN933-M16x50-A2-, 20 ST 
Sechskantschraube DIN933-M16x60-A2- 32 ST 
Sechskantschraube DIN933-M16x90-A2- 250 ST 
Sechskantschraube DIN933-M16x1 OO-A2 65 ST 
Sechskantschraube DIN933-M20x75-A2- 685 ST 
Sechskantschraube DIN933-M20x140-A2 10 ST 
Sechskantmutter DIN934-M6-A4-70 20 ST 
Sechskantmutter DIN934-M8-A4-70 32 ST 
Sechskantrnutter DIN934-M1 O-A4-70 7, 100 ST 
Sechskantmutter DIN934-M12-A4-70 510 ST 
Sechskantmutter DJ N934-M16-A4-70 780 ST 
Sechskantmutter DJ N934-M20-A2-70 9,300 ST 
Senkschraube DIN963-M16x25-A2 20 ST 
Gewindebolzen DIN976-BM12x330-A2-70 40 ST 
Gewindebolzen DIN976-BM1 5x200-A2-70 50 ST 
Gewindebolzen DIN976-BM16x240-A2-70 20 ST 

11041 5_1nventoiy-lis\_ Vesting(AEI) .xis 
printed: 1610512011 16:05 

SIE00000394_001 7  



Category 

OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material (General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General 
OCL Material General) 
OCL Material General) 
OCL Material General) 
OCL Material General) 
OCL Material General) 
OCL Material Alu Tubes L-8.0m 
OCL Material Alu Tubes L-8.0m 
OCL Material Alu Tubes L-B.Om 
OCL Material Alu Tubes L-8.0m 
OCL Material Constructions (steel comoonents 
OCL Material Constructions (steel comoonents 
OCL Material Constructions (steel comoonents 
OCL Material Constructions (steel companents 
OCL Material Constructions <steel companents) 
OCL Material Constructions (steel companents) 
OCL Material Constructions steel comoonents) 
OCL Material Constructions steel comoonents) 
OCL Material Constructions steel components) 
OCL Material Constructions steel components) 
OCL Material Conslructions steel comoonents 
OCL Malerial Constructions steel comoonents 
OCL Material Constructions steel companents 
OCL Material Constructions steel components) 
OCL Material Constructions steel components) 
OCL Material Constructions steel components) 
OCL Material Constructions steel components) 
OCL Material Constructions steel components) 
OCL Material Constructions steel components) 
OCL Material Constructions steel comoonentsl 
OCL Material Constructions steel components 
OCL Material Constructions steel comoonents 
OCL Material Constructions steel comoonents 
OCL Material Constructions steel comoonents 
OCL Material Constructions steel components 
OCL Material Constructions steel comoonentsl 
OCL Material Constructions steel comoonents 

Siemens pie 
Mobility Complete Transportation 
Edinburgh Tram Network 
Axel Eickhom 

BWL 

DIN:976-BM20X380-A2-70 
DIN:976-BM20X400-A2-70 
DIN: 976-BM20X490-A2-70 
DIN: 976-BM20X550-A2-70 
DSN: 1 01 1 50 
E596 
GE20UK-2RS 
HEL:1 1 1 -92160 

H FN:HS50/30-M 16X040-A4-50 
K274 
K275 
E596 
PARRB-36G 
PARRB-70G 
POE:GPN270-R-12060-3 
S576 
5DF2203 
N2X2Y-0 1X150 0.611 KV 
RA Y:MWTM-35/12-1 000/172-0 
RA Y:MWTM-95/29-1 000/172-0 
8WL2161 -0 DBB:202016X-01 
8WL2165-0 DBB:202016X-02 
8WL2167-0 DBB:202016X-03 
8WL2170-0 DBB:202016X-04 
D.021 5-El-J421 1 -C001 
D.021 5-El-J421 1 -C002 
D.021 5-EL-J421 1 -C003 
D.021 5-EL-J421 1 -E001 
D.021 5-EL-J421 1 -E002 
D.0215-El-J421 1 -E003 
D.021 5-EL-J421 1 -E004 
D.021 5-EL-J421 1 -E005 
D.021 5-El-J421 1 -ED06 
D.021 5-El-J421 1 -E007 
D.021 5-EL-J421 1 -E008 
D.021 5-El-J42 1 1 - KD01 
D.021 5-EL-J421 1 -S001 
D.021 5-El-J421 1 -S002 
D.021 5-El-J421 1 -S003 
D.021 5-El-J421 5-E001 
D.021 5-El-J421 5-S001 
D.021 5-El-J421 5-S003 
D.021 5-El-J421 5-S004 
D.0215-EL-J421 5-S005 
D.021 5-EL-J421 5-S006 
D.021 5-EL-J421 5-S007 
D.021 5-El-J421 5-S008 
D.0215-El-J421 5-S009 
D.021 5-El-J421 5-S010 
D.021 5-EL-J421 5-S01 1  
D.021 5-El-J421 5-S0 1 2  

Details OCL Material 

A2V Description - English 

A2VOOOO 1091848 Threaded pin D!N976-BM20x380-A2-70 
A2V00001091849 Threaded pin DIN976-BM20x400-A2-70 
A2V00001671681 Threaded pin DIN976-BM20x490-A2-70 
A2V00001146369 Threaded pin DIN976-BM20x550-A2-70 
A2V00001 1 08350 Earthing rods, 1 -pole 
A2V00001 849848 Ha!fen-mounting rail Hl28/1 5-A4-500 
A2V00001 1 33530 Radial soherical olain bearing 
A2V00001873217 Cable tie 430x7.0 
A2V00001081 579 Screw HSS0/30-M1 6x040-A4-50 incl.nut 
A2V00001 856754 Telescopic cap TSW 55-1 -G121 
A2V000018567 53 Screw protection cap SW 65-1-Gl 23 
A2V00001 904163 UN:HB1 2-1-GALZN 
A2V00001 298469 schwarz 
A2V00001 1 05895 PARRB-70G 
A2V00001 8144 1 8  Stooner rectangular 1 20x60x3 
A2V00370071757 Halfen screw HS 2811 5 M8x25 4.6 GV 
A2V00001 070335 soecial rubber-insulated wire 
A2V00001875102 Cable N2X2Y-O 1x150 RM 0.6/1 (1 .2) kV 
A2V00001 1 18181  Shrink hose MWTM-35/12-1 000[172-0 
A2V00001 1 04871 Shrink hose 
A2V00001 1 62099 Aluminium tube 26x3.5 DIN EN 755 l=B.Om 
A2V00001 1 62100 Aluminium tube 42x4.0 DIN EN 755 l=8.0m 
A2V00001 1621 01 Aluminium tube 55x6.0 DIN EN 755 L=B.Om 
A2V00001 1 62102 Aluminium tube 70x6.0 DIN EN 755 l-8.0m 
A2V00001 837702 Connection anale 
A2V00001 902631 Connection anale track side cabinet 
A2V00001 902629 Connection plate track side cabinet 
A2V00001 81481 2 Hook end clamp for GRP steady arm 
A2V00001833912 Packer for strain relief (1 cable) 
A2V000018337 41 Packer ror strain relief (2 cables) 
A2V00001833742 Cover 

A2V00001 833743 Fixina for cover 
A2V00001868041 Cover for soherical Plain bearinas 
A2V00001 876305 U-bolts MB 
A2V00001 877099 Suspension strap 
A2V00001 8337 45 Stoooer rectangular for cable ;iuide 
A2V00001814783 Connection strao for backstay anchor 
A2V00001 835541 Fixina oart for Pull-off 
A2V00001 915458 Tube clamp 
A2V00001 854896 Eve screw M1 6x240 (welded) 
A2V00001 8148 1 3  Bracket for overhead contact line 
A2V00001 81481 5 Fixina part for backstay anchor 
A2V00001 837703 Fixina part for surqe arrester 
A2V00001838201 Drop bracket under bridoes 
A2V00001 840000 Fixinci part for linkaqe 
A2V00001859008 Wei;iht set 400 kg 
A2V00001870563 Drop bracket under work shoo door 
A2V00001 876456 Fixing parts for linkaae in workshop 
A2V00001 876459 Bracket for locki na 
A2V0000191 5457 Cover for voltaqe I imiter 
A2V000019 1 6386 Fixing part for control box 

Description • German Ordered Unit 

Gewindebolzen DIN976-BM20x380-A2-7 80 ST 
Gewindebolzen DI N976-BM20x400-A2-7 1 ,520 ST 
Gewindebolzen DIN976-BM20x490-A2-70 31 5 ST 
Gewindebolzen DIN976-BM20x550-A2-70 20 ST 
ErdeinrLlhrunqsstanqe D. 16 mm 1 0  ST 
Halfen-Montaaeschiene Hl 28/1 5-A4-500 36 ST 
Radial-Ge!enklaaer 4 ST 
Kabelbinder 430x7,0 2,000 ST 
Halfenschraube HSS0/30-M 16x040-A4-50 75 ST 
Teleskookaooe TSW 55-1-G121 620 ST 
SchraubenschutzkaPoe SW 65-1-G 123 1 ,050 ST 
Hollo-Bolt HB M1 2x60 80 ST 
PARRB-36G M 
PARRB-70G 1 20 M 
Rechteckstopfen 1 2Dx60x3 60 ST 
Halfenschraube HS 28/1 5 M8X25 4 6 GV 1 44 ST 
Sonder-Gummiaderleitunq 9 , 100 M 
Kabel N2X2Y-O 1x150 RM 0.6/1 (1.2) kV 800 M 
Schrumpfschlauch mit Kleber. 3 10  M 

Schrumofschlauch mit Kleber, 50 ST 
Aluminiumrohr 26x3,5 DIN EN 755 L=B,Or 320 M 
Aluminiumrohr 42x4,0 DIN EN 755 L=8,0r 320 M 
Aluminiumrohr 55x6.0 DIN EN 755 L=8,0r 8.200 M 
Aluminiumrohr 70x6,0 DIN EN 755 l=8,0r 536 M 
Ansch!usswi nke! 22 ST 
Verbindungswinkel fur 1 6  ST 
Verbindunasolatte !Ur 1 0  ST 
Gelenkhaken fur GFK Seitenhalter 1 . 520 ST 
Einlaqe fur Zuc;en!lastunal (1 Kabel) 71 ST 
Einla!le fur Zu!lentlastun;i (2 Kabel) 36 ST 
Abdeckuna 56 ST 
Befestiau na fur Abdeckuna 55 ST 
Deckel fur Gelenklaqer 6 ST 
BOaelschraube MS 25 ST 
Aufhanaunaslasche 63 ST 
Rechteckstapfen fiir KabelfOhruna 58 ST 
Verbindungslasche fiJr Mastanker 447 ST 
Befestiaunasteil fur Booenabzug 1 7  ST 
Rohrhalter 1 1  ST 
Osenschraube M16x240 (geschwe1Btl 1 30 ST 
Universalbefestiaunasteil 1 , 1 57 ST 
Befestiaunaswinkel fur Mastanker 80 ST 
Befestiaunasteil fur 20 ST 
Hanaesaule unter Brucken 5 ST 
Befesti<luncisteil fur Gestanaefuhruna 85 ST 
Gewichtssatz 400 kg 30 ST 
Hangesaule unter Depotha!lentor 1 1  ST 
Befestigungsteil fO r GestangefOhruna 32 ST 
Befestiaunasteil fU r Verrieaeluna 8 ST 
Schutz fur SpannunQssicheruna 6 ST 
Befestiqunqstei I fur Kon troll box 6 ST 

1 1041 S_lnventory-List_ Vesting(AEl).xls 
printeo: 1 6/051201 1 16:05 

SIE00000394 001 8 



Category 

OCL Material Constructions steel components) 
OCL Material Constructions steel components) 
OCL Material Constructions steel components) 
OCL Material Constructions steel components) 
OCL Material Constructions steel components) 
OCL Material Constructions steel components) 
OCL Material Constructions steel components) 
OCL Material Constructions steel comoonentsl 
OCL Material Constructions steel comoonents 
OCL Material Constructions steel comoonents 
OCL Material Constructions steel components 
OCL Material Constructions (steel components) 
OCL Material Constructions (steel comoonentsl 
OCL Material Constructions steel comoonentsl 
OCL Material Constructions steel components) 
OCL Material Constructions steel comoonents 
OCL Material Constructions steel components 
OCL Material Constructions steel components) 
OCL Material Constructions (steel components\ 
OCL Material Constructions (steel components\ 
OCL Material Isolators SEFAG 

Siemens. pie 
Mobility Comp!ete Transportation 
Edinburgh Tram Network 
Axel Eickhom 

8WL 

D.021 5-EL-J4221-S001 
D.021 5-EL-J4221 -S002-A 
D.021 5-EL-J4221-S002-B 
D.021 5-El-J4221 -S003 
D.021 5-EL-J4221 -S005 
0.0215-EL-J4225-SDD1 
0.021 5-EL-J4251 -E001 
D.0215-EL-J4251-E002 
D.021 5-EL-J431 1 -S001 
D. 021 5-EL-J431 1 -S002 
D.021 5-EL-J431 1 -SOD3 
0.021 5-EL-J431 1 -S004 
D.021 5-EL-J431 1-S005 
D.021 5-EL-J431 1 -S006 
D.021 5-EL-J431 1,S007 
0.021 5-EL-J4311-S008 
D.021 5-EL-J431 1-S009 
D.0215-EL-J431 1-S010 
D.021 5-EL-J431 1-S01 1 
D.021 5-El-J431 1,S012 
8WL3088-1A 

Details OCL Material 

A2V Description - English 

A2V00001822948 Angle 80x80x10 
A2V00001 840002 Fixing angle for pul I-offs 
A2V00001 840058 Fixing angle for pull-offs 
A2V00001868199 AnQle 80x80x1 0x220 
A2V00001876461 Fixing anQle for fixed termination 
A2V00001 869475 Clamp angle 
A2V00001 868042 Distance tu be for spherical plain 
A2V00001868043 Distance tube L-6Dmm for soherical 
A2V00001814876 Bracket 1 for double cantilever 
A2V0000181 4877 Bracket 2 for double cantilever 
A2V00001 822949 Bracket 3 for double cantilever 
A2V00001 822950 Bracket 4 for double cantilever 
A2V00001 822951 Suooort for cantilever swivel bracket 
A2V00001838702 Bracket for disconnector 
A2V00001840061 Bracket 5 for double cantilever 
A2V00001 840057 Bracket for manual operating mechanism 
A2V000018681 96 Suooort for bioolar disconnecter 
A2V00001 868198 Lever arm 
A2V00001 876463 Bracket for disconnector in workshop 
A2V00001 876464 Bracket for manual operatinQ mechanism workshop 
A2V00001 1 73136 Composite insulator 3kV DC L-300 

Description - German Ordered Unit 

Winkel 80x80x10  15  ST 
Befestigungswinkel fur BogenabzOge 1 ST 
Befestigungswinke1 fOr BogenabzOqe 1 ST 
Winkel 80x80x1 Ox220 6 ST 
Befestiau naswinkel fur feste Abfangung 6 ST 
Klemmwinkel 35 ST 
Distanzrohr fOr Gelenklaae 4 ST 
Distanzrohr L=60mm fur Gelenk!aaer 4 ST 
Traverse 1 fOr Doppelausleqer 191  ST 
Traverse 2 flir Doooelausleger 64 ST 
Traverse 3 !Ur Doopelausleaer 10 ST 
Traverse 4 tor Doppelausleaer 4 ST 
Stolze tor Ausleaer-Gelenkbock 1 5  ST 
Konsole fur Schaller am Stahlrundmast 1 6  ST 
Traverse 5 tor DoooelausleQer 4 ST 
Befestigungsteil fur Handantrieb 1 8  ST 
Konsole flir Bipolarschalter 3 ST 

Hebelarm 3 ST 
Konsole tor Schaller in Deoothalle 8 ST 
BefestiQu nQsteil tor Handantrieb 8 ST 
Verbundisolator 3kV DC L=300 447 ST 

11041 5_Jnventory-List_ Vesting{AEl).xls 
printed: 16!0512011  16:05 

SIE00000394_001 9  


